ES%  #F (3- 5 -
# = B & ¥
5
1 4 1
(1) -5 1) a= o b=
(" 2) e 21| | [ ghotensss )
e
350
(93] 5 cm® 25 A(L, 1), B(-2, 4) 283
ERORL y=—z+2 Th3,
o 5 E#HROCORIT y=3z THEMD,
" 16 E# OC LM ¢ LDOREP I,
3z=-c+2 £9, x:—;—
(7 5) L s
Az P ORI (3 3> 5.

DAB OREEM LT5 L,
M O <~-§ %) 5.

ERBCORLy=2+6 ThY,

AMZBY, OCKEHTRER y=3z+4 &

BCLDREEN LTDL,

z+6=3z+4 L9, =1

AN DEEE (1,7) THA,
ROBHEBL, 245P, NEEENPD

y=1lr -4
(BEZ) Y = 1lz — 4
@2 | @ 12? 5

(3-J\Y)
1) ( == ) E ®1)| 2= 55
M2) [ & 58 ] /2311 b= 7564 , €= T565
RREA]
AABF & AEBC BT, (21| (2 [ #poReeELRE |
/BAF = [CAD )
a?= (2n +1)?
AD//BE &9, 88055 L VDT, )
[CAD = /BEC - ® :4n2+4n+1 9
©.@5p /BAF = /BEC .® = (20 + 2n) + (2n°+ 2n + 1)
2 OOARELVOT, T 2
b=2n“+2n
AABE BTEN =AM TH LMD, 9
c=m*+2n+1
AB=EB @
LB L,
¥, AABCHRIESNZAEE THEMD, c+b=a?
/ABC= /ACB c—b=1
£907T, Lo,
/ABF = /ABC — /FBC Aot (c+b)(c~b)=a®x1=a?
= /ACB — /FBC - ® WEIZ,
ED e A AEAIRELLOT, /DBC= /CAD 21 p?=c2
@ kb, ARV 3L,

/FBC = /DBC = /CAD = /BEC ---®
®,® Ly,
/ABF = /ACB - /FBC
= /ACB — /BEC = /EBC
o, /ABF = /EBC @
® @ O &y,
1D L Z DFROARENERE LVNS,
AABF= AEBC
@211 @ 25 cm




